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> x <- ¢(32.4, 39.2, 41.3, 43.7, 39.7, 37.2, 40.9, 39.9, 39.4)
> mean(x)
[1] 39.3
> var (x)
[1] 9.81
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> gnorm(1-0.05/2) (> gnorm((1+0.95)/2) TH )
[1] 1.959964

WZEoTRDODSNDDT, [GHEXMEIX

> 39.3-1.959964%2.95/sqrt (9)
[1] 37.3727
> 39.3+1.959964%2.95/sqrt (9)
[1] 41.2273
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> mean(x)-qnorm(1-0.01/2)*2.95/sqrt (9)
[1] 36.7671
> mean(x)+qnorm(1-0.01/2)*2.95/sqrt (9)
[1] 41.8329
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FRERS | 1BHOT—X | 1I8BZHDOT—X | #ERXES | 1BHOT—X | I8BZBHDOT—X
1523051 37.0 39.1 1823072 45.2 35.1
1723016 29.1 27.5 1823076 35.8 32.8
1823019 38.8 35.6 1823091 35.8 33.5
1823038 40.3 32.0 1823100 31.8 32.6
1823058 29.7 35.5 1823102 32.5 39.7
1823067 38.1 27.9 1823109 43.2 37.3
1823068 38.4 43.3 1823131 45.1 36.2
1823070 25.6 32.6
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> qt(1-0.05/2,6)
[1] 2.446912
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> qt(1-0.05/2,50)
[1] 2.008559
> qt(1-0.05/2,100)
[1] 1.983972
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> x <- c(76.5, 82.4, 93.0, 78.7, 86.6, 94.2, 82.9)

> mean(x)

[1] 84.9

> var (x)

[1] 45.70667
> sd(x)

[1] 6.76067
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> set.seed (FFEES)
> x <- round(rnorm(18,34,5.5),digits=1)
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